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Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two_ or more circles will result no mark.

SECTION-A (i~ StJL~)—2Yy
[Q.1 Questions /=iy A B v D
| 1 g Frelidi v P Ag¥ WA e
[7 A simple example of cybercrime is--~------- ; Encryption Copy right Piracy Hacking
| & T . Ut s]ls HTML 5 i ’ .
| " | There are ~--------- types of headings in HTML documents.
r 3 ??.[:.}TL}?/‘:J9,7Z[}.’{51!J£V_(' 4 6 8 10
'ﬂ " | Apassword contains how many words at least?
v 12 2 e G o
s | RRANRE L Lt i <tB> <table > <tM > <ts>
b | e tag is used to display data in tabular form.
1 5, ~{—L"U'U:¢T!(' """""" e 3l /)/;5/_ Pt J//:.’,g' Rk
| Router connects many ---------- with each other. Protocols Channels Networks Addresses
! 6. | ‘ b L FIP HTTP STP SMTP
i Which protocol is used for email?
How many bits are there in 1 byte?
8. ,c‘;L‘(gL),ﬁ/}Z: """""" Q;[/:”{. Iy 3/ d-wl‘g L334
Data to a processor is provided through ---------- . RAM ROM u.s.B Hard Disk
g T = O S ol Sl dab Ui LS
In flowchart symbol © is used to show a/an---------- . Input Decision making Process Connector
10. e G U (LS /Kﬂ( =d s rtKJ—J
In trace table, each row represents: Name of data | Column number | Value of data | Name of table
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Note: Section B is compulsory. Attempt any TWO questions from section C. E 7 :«I,I:Z&.‘;Ulf»c(}fc.dﬁ(" vt e (S ins s
SECTION-B (/».w St~/ —24
2. Write short answers to any FOUR parts. (4x2=8) S feln Lamge §S
i. Explainthe pﬁrpose of defining a problem. ~£ugf,,w3‘(u:;£,l’/ i
ii. How do we use trace table in debugging process? ?+rndb¥oé(g)-’":uf}u.‘fé(debugging)ﬂwﬁ i
iii. What is the purpose of using terminal symbol in a flow chart? e dndend Lusf erwl 2t i i
iv. Explain the concept of ‘divide and conquer rule’. _ _éy&,u(d,llé‘,)@”l,/r:ﬁ’ v
v. Define HTML. vi. Write down the general structure/syntax of paired tag. _é,»/'ﬁ/;f/d}:h?ﬁ% vi g dHTML v
4. Write short answers to any FOUR parts. (4x2=8) i feun A Lk df 3
i, Write down the procedure to convert decimal number to binary number. L FaMe S A A
ii. Convert (69610)10to Hexadecimal. L e l‘/é/(69610),0 i
iii. Describe truth values.  iv. Construct truth table for NOT operator. N i 4TNOT iv o kAl i
v. Define online piracy.  vi. Describe DOS attack. -E Uk £IDOS i -g{.g/JJ&;gJuyT v
4. Write short answers to any FOUR parts. (4x2=8) e Ll Y
i. Describe use of FTP protocol. SIS FTP
ii. Define IPV4. iii. How does Web browser work? e b S A s i EEySIPva i
iv. Which type of connection is used by Wi-Fi? Define it. -é_g}uél?+tfff4uigu/_ﬂ,¢3$ud:, v
v. Write down a code to insert image in HTML.  vi. What is anchor? el Lfvi @A L P ML
(Attempt any TWO questions, camying 08 marks each) SECTION-C (/' v 2 (A 08 L f e
5. m, gf:n);grer.neasure the efficiency of an algorithm? Explain 8) -’c{yu;adt‘/?Zq/é&jg,Jdﬂf/KJfgﬂg &
6.  Explain Bus and Ring topology. (4+4) -é;»u,&j:)yj) sl L6
7.  Write down the characteristics of a good password. (8) -’,é/_ 7 .;,t:aré” g ULl T

25-124-1A-19000

A

M __________________ i/.j'/_‘,l{:.r)v——-————-———--———-—--——M




/

V-
/

t** * % Computer Science ‘ Group:2 | $SC(9")1**Annu

al 2024

410 Time:15Minutes Paper-l  Objective (i) |Code|5|8|3|8

(iv)J;,v I:,.‘;/, 158 10:/ l/:::_’.d/

,,,,,, é;i"zbg‘l/,

s

At B AL e $e SIS N LS 3 fsihiiafi.Eof ety LAIMUL ot orne Uiz b iy 1488 Gl s D 4 C,B AHZL
You have four choices for each abjective type question as A, B, C and D. The choice which you think Is comrect; fill that circle In front of that question number in your answer book. Use marker or pen t

SECTION-A Ji.»

circles. Cutting or fifling up two or more circles will result no mark.
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/ Questions/ =i~ A B c D
£ o o | e | e D -,
Communication protocols cover: Authentication Error detection Correction Ali of these
5 bl ke U IAIMAC PP RS
" |Every data packet has a /an - . Computer address| MAC address IP add.ress Home address
(S IHSF OB U et L gt Siisy| el S st A7 AN
3. Which of the given is not the characteristic of Official data Email account “{ retiindar Similar domain of
phishing emails? breach notification update actual website
e F e e i CCTV| priarsi el . Closed Circuit .
4, CCTV stands for ' 7 Circuit Television | Real Television Television Closed Television
g -u;rcfcnﬁ:/,_d’ £ .‘_..-_uf.::/[b‘HTML 4 5 6 7
There are types of headings in HTML document.
6. DY TTOH B <i> <b> <> <br>
tag makes text bold.
. -uﬁ’gla;zrd’,ﬂbgf,@.?le ~~~~~ g:'/-'gd/“; /JJ‘ Ak &»/‘g}g
. - means to test if the required solution is there Veritication Algorithm vailflation Flowchart
. AT e utbeg L e d ] s RPN i s Bl e b
' [Uisthe data that does not comply with theinput | pbsentdata _|Boundarytest data) Valid testdata | Invalid test data
e Ut LAl ] 2 3 o s
9. i Petabyte is equal to; (1024)’ bytes (1024)’ bytes (1024)" bytes (1024’ bytes
_%_v_<_1,\.’.d/lﬁ’f Y-S
10. The decimal value of letter “A” is 62 o 85 as
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Note: Section B is compulsory. Attempt any TWO questions from section C. _éf’{,?auzl_.:m:’nédféu:/rj_445)0(»,4? Y
SECTION-B /».» Sl _~2 ~
2. Write short answers to any FOUR parts. (4x2=8) LE M AL e 3 2
i. How will you test algorithm by employing invalid test data? ?Zq/_f/:"d:/f/ﬁa.nz_/db?/l&é.;éc/u ¢ .;T i
ii. What is absent test data? fetufliosd o ors i
iii. What do you know about “Draw a picture” strategy? mz‘.lggf.,fu:g/g&}fd&'m/_;ﬁ“ i
iv. Write down two advantages of flowchart. Lo iy
v. Define hyperlink.  vi. Why the <body> tag is used in HTML? ?‘at(gy/db;lu[u?%odp JSHTML .vi -"ébé/jgfv@;;’g v
3. Write short answers to any FOUR parts. (4x2=8) _zﬁ.f/_/‘".:,g!)?/‘?..f.;!:?ugc_éf 3
i. Convert(1A9); to decimal system. ii. Exptain Binary Number System. ol e i SE S S S1AY), i
lii. What is meant by “computer memory”? iv. Explain “OR” operator. _éyu,d’;.47 “OR” .iv Cest e "ot L i
v. Explain patent. vi. What is meant by “phishing” ? el s/ " vi sl v
4. Write short answers to any FOUR parts. (4x2=8) ,zég/’;«uﬁ/géﬁmhgaéf 4
i. Describe the application sharing with example. -;{L‘fua_dt‘/ﬁf}.‘iﬁgﬂ i
ii. How is computer network helpful in user communication? ?4‘—/(—‘»- 4@%}3’/}!—{/&&:’/’%{ |
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ili. Why is 'router' important for internet?
iv. Compare the server and client system.
v. Why is rowspan used in HTML?

i i i : : <html> P9 ORYIAeN Az )
vi. Write down the output of given HTML code P <l 2 fe T o,
<li>coffee </li>
<li> water </li></ul></body></htmi>
SECTION-C /»

Note: Attempt any TWO questions. Each question carries Eight marks. _.UZ/}!TLJLV/,é{}aui..f,.:«mrua,df:&)
5. How do you determine the formulation of an algorithm? Sl cﬁ’)/{fﬁ)ié'b(/ug'f" -5
6. What is network topology? Explain ring topology with a diagram. -ﬁyu;c,(I/LISJJ.;L;'JJ/?.;_gfo’.ﬂgig.ﬂ,:{‘ -6
7. Whatis Cyber Crime? Explain any three of its types. & wu»&fulwfddﬁfw?‘agﬁ'//v .7

26-124-1A-16000




